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Analysis-1
Section Id : 864351665



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351888
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 86435116196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A plan of action to guide decisions and achieve pre-determined goals is called:

1. Plan

2. Policy

3. Programme
4. Project

Options :

86435154947. 1
86435154948. 2
86435154949. 3
86435154950. 4

Question Number : 2 Question Id : 86435116197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which is not an objective of the current agricultural policy in India?

1. Generating non-farm rural employment

2. Focus on agricultural development in resources endowment areas
3. Ensuring greater public-private participation

4. Ensuring the economic viability of small and marginal farmers

Options :

86435154951. 1
86435154952.2
86435154953. 3
86435154954. 4

Question Number : 3 Question Id : 86435116198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which fertilizers, the subsidy may vary and the price is fixed?

1. Phosphorus
2. Urea

3. Potassium

4. Bio-fertilizers

Options :

86435154955. 1
86435154956. 2
86435154957. 3
86435154958. 4

Question Number : 4 Question Id : 86435116199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Series of stages through which the formulation of a policy goes from its conception to the
point at which its impact can be evaluated is called

1. Policy planning

2. Policy formulation

3. Policy making

4. Policy implementation

Options :

86435154959. 1
86435154960. 2
86435154961. 3
86435154962. 4

Question Number : 5 Question Id : 86435116200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a characteristic of a good policy formulation process?

1. Participatory

2. Vigorous debate

3. Follow strict process

4. Identify issues related to policy overlaps

Options :

86435154963. 1
86435154964. 2
86435154965. 3
86435154966. 4

Question Number : 6 Question Id : 86435116201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Under which type of implementation, follow a prescriptive approach that interpreted the policy
as input and implementation as output factors?

1. Top-down model

2. Bottom-up model

3. Hybrid model

4. Decentralized problem-solving

Options :

86435154967. 1
86435154968. 2
86435154969. 3
86435154970. 4

Question Number : 7 Question Id : 86435116202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following uses mathematical optimization to choose an investment portfolio
through maximizing a multiple-goal objective function, given the set of resource constraints?

1. Scoring models

2. Economic surplus models
3. Programming models

4. Simulation models

Options :

86435154971. 1
86435154972. 2
86435154973. 3
86435154974. 4

Question Number : 8 Question Id : 86435116203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Who of the following are key-actors in the agricultural policy process?
A. Farmers

B. Agricultural labour

C. Civil servant

D. Politicians

Choose the correct answer from the options given below

1. AandB
2.BandC
3.AandD
4.Cand D

Options :

86435154975. 1
86435154976. 2
86435154977. 3
86435154978. 4

Question Number : 9 Question Id : 86435116204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following statement(s) is/are true?
A. A policy is an instrument in the hands of politicians to deal with general public issues.

B. Distinct segments and unique features of agriculture in the country do not influence the
purpose of an agricultural policy.

C. Policy failure is an inability of a policy to achieve the set objectives or reach the ultimate
goal.

D.Mere formulating a policy does not serve the purpose, it has to be implemented.
Choose the correct answer from the options given below

1. Aand B
2.0Only C
3.A,C andD
4B, C,andD

Options :

86435154979. 1
86435154980. 2
86435154981. 3
86435154982. 4

Question Number : 10 Question Id : 86435116205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which among the following is/are a reason(s) for policy failure in the basic and theoretical
context?

A. Non- consideration of socio-cultural sensitivities of target groups

B. Non-delineation of responsibility for implementing agencies

C. Lack of synergy among different objectives

D. Non-participatory approach followed in the policy process is the major cause
Choose the correct answer from the options given below

1.Aand B
2. B only
3.C only
4 Cand D

Options :

86435154983. 1
86435154984. 2
86435154985. 3
86435154986. 4

Question Number : 11 Question Id : 86435116206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Checks and balance on the key actors of policy should be designed at:

1. Policy implementation stage
2. Policy formulation stage

3. Policy evaluation stage

4. No need to design



Options :

86435154987. 1
86435154988. 2
86435154989. 3
86435154990. 4

Question Number : 12 Question Id : 86435116207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which component of the National Agricultural Policy suggests future trading in agricultural
products?

1. Institutional structure

2. Investments in agriculture
3. Incentives for agriculture
4. Risk management

Options :

86435154991. 1
86435154992. 2
86435154993. 3
86435154994. 4

Question Number : 13 Question Id : 86435116208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The purpose of promoting the Peasant Union for agricultural labour is:
A. To provide work on a group basis

B. Rehabilitation of landless agricultural workers

C. Provide better bargaining power

D. Rapid employment generation

1. A and D only
2. B only
3. C only
4. Cand D only

Options :

86435154995. 1
86435154996. 2
86435154997. 3
86435154998. 4

Question Number : 14 Question Id : 86435116209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following refers to goods, having distinct quality or characteristics and
originates in the territory of a member state?

1. Copyright and related rights
2. Geographical Indications

3. Patents

4. Trade Marks

Options :
86435154999. 1



86435155000. 2
86435155001. 3
86435155002. 4

Question Number : 15 Question Id : 86435116210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Panchayati Raj means

1. A system of government

2. Gathering of people to achieve goals
3. Joint association of people

4. A facilitative organization

Options :

86435155003. 1
86435155004. 2
86435155005. 3
86435155006. 4

Question Number : 16 Question Id : 86435116211 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is a pre-condition for takeoff according to Rostow?

A. Subsistence activities, consume whatever produced, limited trade
B. Identify some manufacturing activities for investment

C. Rise in productive investment (5-10 percent of national income)
D. Economy starts treading on self-sustaining growth

Choose the correct answer from the options given below

1. A, B and C only
2. B only

3. D only

4. B and D only

Options :

86435155007. 1
86435155008. 2
86435155009. 3
86435155010. 4

Question Number : 17 Question Id : 86435116212 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Land Retirement and Easement Programs in the US have the objective of:
A. Revenue support

B. Conservation

C. Rural Development

D. High Priority Research and Extension

Choose the correct answer from the options given below

1. A only
2. B only
3.BandC
4 Cand D

Options :

86435155011. 1
86435155012. 2
86435155013. 3
86435155014. 4

Question Number : 18 Question Id : 86435116213 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which programme was launched in selected areas with the high potentiality for rapid
production increase?

1. Indian Agricultural District Programme (IADP)
2. Intensive Agricultural Area Programme (IAAP)
3. High Yielding Varieties Programme (HYVP)

4. Green revolution



Options :

86435155015. 1
86435155016. 2
86435155017. 3
86435155018. 4

Question Number : 19 Question Id : 86435116214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are true about the neo-liberal model?
A. It views that the governments are not capable of intervening in markets efficiently.
B. It suggests that the government should play a major role in the economy

C. It suggests that there should be no constraints on free trade, capital mobility, and open
markets.

D. It suggests that those who join the system will prosper economically and those who do not
will be deprived of economic prosperity.

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3. A B, and D only
4. A C and D only

Options :

86435155019. 1
86435155020. 2
86435155021. 3
86435155022. 4



Question Number : 20 Question Id : 86435116215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which is not true about expanding the aquaculture and livestock sector in Indonesia?

1. Heavily reliant on imported feed ingredients

2. A limited supply of corn has a high impact on the cost of feed

3. Any agency can import the feed corn in the country

4. High corn prices are indeed driving some farmers to switch to corn

Options :

86435155023. 1
86435155024. 2
86435155025. 3
86435155026. 4

Agricultural Policy Formulation Components Process Implementation and Comparative
Analysis-2

Section Id : 864351666
Section Number : 2

Section type : Offline
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 30

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351889
Question Shuffling Allowed : No

Question Number : 21 Question Id : 86435116216 Question Type : SUBJECTIVE
Correct Marks : 3



What do you mean by the multi-functional goals of agriculture?

Question Number : 22 Question Id : 86435116217 Question Type : SUBJECTIVE
Correct Marks : 3

What is meant by regulations and controls to achieve the intended agricultural sector goals?

Question Number : 23 Question Id : 86435116218 Question Type : SUBJECTIVE
Correct Marks : 3

What do you understand by the term ‘resource competitiveness’ in policy formulation?

Question Number : 24 Question Id : 86435116219 Question Type : SUBJECTIVE
Correct Marks : 3

What is the modeling approach to impact assessment?

Question Number : 25 Question Id : 86435116220 Question Type : SUBJECTIVE
Correct Marks : 3

Give the importance of good governance.

Question Number : 26 Question Id : 86435116221 Question Type : SUBJECTIVE
Correct Marks : 3



What is the importance of the reqgulated market in agriculture?

Question Number : 27 Question Id : 86435116222 Question Type : SUBJECTIVE
Correct Marks : 3

What was the social control over the banks?

Question Number : 28 Question Id : 86435116223 Question Type : SUBJECTIVE
Correct Marks : 3

What is the basic feature of the Mahatma Gandhi National Rural Employment Guarantee Act
20057

Question Number : 29 Question Id : 86435116224 Question Type : SUBJECTIVE
Correct Marks : 3

What is the basic feature of the Essential Commoeodities (Amendment) Bill, 20207

Question Number : 30 Question Id : 86435116225 Question Type : SUBJECTIVE
Correct Marks : 3

Explain the meaning of the term globalization?

Agricultural Policy Formulation Components Process Implementation and Comparative
Analysis-3
Section Id : 864351667



Section Number : 3

Section type : Oftline
Mandatory or Optional : Mandatory
Number of Questions : 7

Number of Questions to be attempted : 5

Section Marks : 50

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351890
Question Shuffling Allowed : No

Question Number : 31 Question Id : 86435116226 Question Type : SUBJECTIVE
Correct Marks : 10

Explain the meaning and importance of the sub-sector policy integration in agriculture.

Question Number : 32 Question Id : 86435116227 Question Type : SUBJECTIVE
Correct Marks : 10

What are the different instruments of agricultural policy? Discuss anyone in detail.

Question Number : 33 Question Id : 86435116228 Question Type : SUBJECTIVE
Correct Marks : 10

Explain the ways to enhance the competitiveness of the livestock sector in the world market.

Question Number : 34 Question Id : 86435116229 Question Type : SUBJECTIVE
Correct Marks : 10



Discuss the meaning and importance of policy implementation, monitoring, and evaluation.

Question Number : 35 Question Id : 86435116230 Question Type : SUBJECTIVE
Correct Marks : 10

Explain the causes of the poor economic condition of farm labor.

Question Number : 36 Question Id : 86435116231 Question Type : SUBJECTIVE
Correct Marks : 10

Discuss Solow's Model of Economic Growth.

Question Number : 37 Question Id : 86435116232 Question Type : SUBJECTIVE
Correct Marks : 10

What are the objectives and basic principles of the Common Agricultural Policy of the

European Union?



